T & =1 20243 oAk 2 B = 2024 Offakt
A 2,140,272 A 2,140,272
HBxg+ 2,134,719 AMSH| 1,140,431
2xg+Y 2H 2,134,719 Q1ZdH| 2 A 1,021,754
ANEExRZ 2,120,259 =0 681,049
ENLEES=] 14,460 Mg 171,811
ez 5,000 Ezlg & EXNE S 74,461
HUF e 5,000 Ate| 2R ET 87,934
HRIMYUZ 5,000 7|Ef2 | 6,500
o= 553 HF | e | 9,800
0|E= 27 553 7| #2EH| 5,200
HAZ0|EZ 508 3|9H| 4,600
HAZO|HF(HANYUF) 45 =H| e | 108,877
Gl 1,960
FEH|H¢+R 42,238
3885 13,000
HAMSd= 2,050
Ri| 700
7|EL2&H| 48,929
WSl 78,565
Al2H| e | 78,565
Al2H| 57,440
RHLHE S| 16,589
AEFEHIRAH| 4,536
AL H| 920,768
ArH| e | 920,768
MEY 7IEMHIA HY-E e 82,350
JHERY HYsA XZHS S 116,954
CHFOES AtelotH e et 287,134
AIX|SHAE X[EYst 51,390
22 HENS 382,940
OflH|H| X7 E 508
Of|H|H| X7 |EF e | 508
Gl 508




2024E: MSAZIEAE MY-ME MM

= gt = 20243 Of| kot o g = 2024'A of| At
EA 1,584,515 A 1,584,515
EES=S] 1,679,106 AP 913,708
2xg+Y A 1,579,106 Q74| 2 815,505
NEREZ 1,679,106 20 544,801
He= 5,000 N 135,533
e A 5,000 g # EENE 59,975
5,000 a2 SRS 69,996
409 7 |EHSMAH| 5,200
409 AR FTIH] A7 7,600
364 7|2 4,000
HEZ0[EZ(HY 45 3|9lH| 3,600
2| A7 90,603
ot 1,200
SEH|Yp4E 29,324
2zez 12,000
HMS = 2,050
| 700
7|EHREH]| 45,329
THARZEAH| 78,565
INESLL A7 78,565
AJAdH] 57,440
RHAHE S H| 16,589
INESESEIEONE] 4,536
ArRiH] 591,878
Apeit] A7 591,878
Y TS AMHIA 82,350
5 74514 ZRLS 3 116,954
USIIIE AL2[QHHT Z 165,134
Rx|7E X|EZst 22,900
S5 U HEHZ 214,540
OilH|HI 7 |EF 364
OilH|HI 7 |E} EN | 364
oretag 364




2024 MESAZEEME (T2 EEX2IALY, XHH) MEY-HE MM

(Sl & )

£ & =1 20243 oAk 2 B = 2024 Offakt
A 555,757 A 555,757
LB S 555,613 ArH| 226,723
2xg+Y 2H 555,613 Q1ZdH| 2 A 206,249
ANEExRZ 541,153 =0 136,248
ENLEES=] 14,460 Mg 36,278
0|&3 144 Ezlg & EXNE S 14,486
b=, e 144 Ate| 2R ET 17,938
A0z 144 7|Ef2 | 1,300
R =T e | 2,200
7| #2EH| 1,200
2|9H| 1,000
=ZH| E| 18,274
Gl 760
FEH|H¢+R 12,914
3885 1,000
7|E}2EH| 3,600
ArH| 328,890
ArH| e | 328,890
CHFSZHE Ar2lQtd e Zat 132,000
Rx|FHE X|@gst 28,490
22 A ZENS 168,400
OflE|H| 7| EF 144
OflE|H| 7| EF e 144
gtetg 144




